Examination Date: 12t Jan 2020
Laboratory Attendant

Answer Keys



1. In Dobereiner’s triads which of the following element was placed with calcium and Barium
SR o grEred | fefafiad dcdi § € i |1 Shicx™y iR AfEd o arer W@ T o

a) Lithium b) Strontium c) sodium d) Potassium
feaform wrofem aifemm arefiem

2. Element of atomic number 86 belongs to which block
T ST 86 T A fohw seiteh & waed €

a) S-block | b) P —block | c) d-block | d) F- block

3. In Dobereiner’s triads which of the following element was placed with Bromine and lodine
SR & grrew § fmfafad aat § & s it ST & Ty @ mm or

a) Calcium b) Potassium c) chlorine d)Sodium
Hfcarem gre: > FARIA aifeam
4. The last metalloid in periodic table
ATard @Rt 7 Sifem 3Terq
a) Tellurium b) Polonium c) Arsenic d) Silicon
Toafam areAEe SIEIEED e

5. Which of the following scientist arranged the elements on the basis of Octave theory
Frfafaa & & fora afer T sfeea faeara & STTaR W dwt $i cawn i 2

a) Mendeleev b) Mosley ¢) Dobereiner d) Newland
EReCic Ty ey i

6. How many elements were assumed by Newland during the preparation of octave theory
e fieaid hl Gat o SR JYeie sanT fohe ded hicud fohg e o

a) 56 | b) 63 | c) 86 | d) 76
7. Atomic number of Uranium
REREEIR T Ic )
a) 98 | b) 96 | c) 92 d) 94
8. The Last element in Newland’s law of octaves?
=Jeie & sftaeey  feaia & sifem a?
a) Ce | b) La | c) Sr | d) Th

9. The unknown element named as ‘eka- aluminiun by Mendeleev, was named as what in modern periodic table
Heelle SqRT Ushl- AYHIEH “JTHeh STHTA dcel ol ATk AT ARON o fope & & 1 fofa mrim o

a) Germanium b) Scandium c) Gallium d) Boron
SRR ki femm Aferr R
10. Which one in not a Nobel gas?
1 5 & = € Few 9 11 2?
a) Ar b) Xe | ¢) Bi | d) Rn
11. Number of elements present in group 18
T 18 4 Hisg at s e
a) 7 | b) 8 | c) 6 | d 9

12. In modern periodic table Group number 13 is named as
aAyfer strad Tl § wg den 13 i ifd fo e

a) C-family b) B- family ¢) N-Family O-family
C —fireft B -Sfireft N -Sfreft O -Hfueht




13. Which of the following is not a metalloid?

T & i @1 39uTq T 37
a) Germanium b) Arsenic c)Antimony ¢) Bismuth
SR STH i o
14. Molecular mass of Nickel?
Frferet o sToTfare SeammT 2
a) 35.45 b) 58.69 | c) 23 d) 40
15. Number of element in group 4 are
T 4 § q i wewr 3
a) 5 | b) 4 | c) 6 | d) 7
16. Heavy metals or transition metals are placed between group number
Y ST AT HEHHOT TS Y TS HEAT o Sffe W S €
a) 2-12 | b) 3-12 | c) 413 | d) 3-13
17. The first metal of the periodic table?
ATar AR B R 41q?
a) Hydrogen b) Lithium c) Helium d) Beryllium
HESIER] feform giferm hferm
18. Number of Actinides in periodic table?
3T Rt § ufdeieey i T 77
a) 14 b) 4 | c) 6 d) 7
19. In periodic table group 17 represent-
3 |l e 2o § gl
a) Alkali metal b) Non- metals ¢) Noble gas d) Halogens
HAFA 91q RGeS EIERRI] RNIEE]
20. Which among the following element is metal
frfeftad det § & 9 @1 a1q §
a) Selenium b) Bromine c) Hofmaniun d) Chlorine
e ElRIEC) TTRATRT FAR
21. Largest cell in the human female?
AT AigaT § Ted T I 872
a) Nerve cell b) RBC c) WBC d) Female egg
[iEEARCAINED] RBC WBC HTaT 31

22. Teflonis a/n

TFAA 2 |
a) Fluorocarbon b) Hydro carbon c) Pesticide d) Insecticide
AR RIS RESIEIET) et EaceiNED
23. Which of the following is not metallic mineral?
frfafad & & & @1 a1 @t 7@ 27
a) Haematite b) Bauxite c) Gypsum d) Limonite
EIESIES) ISk




24. Which acid substance is found in vinegar?

et & & @1 Ul vered e ST 272
a) Lactic Acid b) Citric Acid ¢) Maleic Acid d) Acetic Acid
Al st arsfos et nfass o wfafemema
25. The milk is an example of
24 U IEERT &
a) Solution b) Colloidal solution ¢) Emulsion d) air - solution
o FIATS SIS A I T H

26. Which organ of the body produces the fluid known as bile?
= & =6 = i T Ames 59 7 Seured S 22

a) Liver b) Pancreas ¢) Gall bladder d) Kidney
REx SR ERINES Tt

)

27. If a person’s weight is 360 N on Earth then how much weight will it be on moon?
TorelT e 7 W gealt W Ats 360 N 2 T FwA1 W 36 R forer 2rft?

a) 600N | b) 60N | c) 1000N | d) 100N
28. Scalar quantity is
sfer afr &
a) Energy b) Torque ¢) Momentum d) All above
St A AT KL ST it

29. Which of the following is a vector quantity?
fafafea & afew afwr 2

a) Velocity b) Mass c) Time d) Length
3 T qu =l

30. The least distance of distinct vision for a young adult with normal vision is about
HTAT gfY aTet JoT 2reh o foTq 3feim — 3fe gfe i 9 gl s s d €

a) 25m | b) 2.5cm | c) 25cm | d) 25m

31. What is the of nature of a mirror having of focal length of ,+10cm?
RlIhe ST , + %o THY T qUT At WKl T HT 27

a) Convex b) Concave c) Plane mirror d) None of these
I FFaA aHAS qqur I T HIS T

32. The focal length of a spherical mirror of radius of curvature 30 cm is
TR U1 T Biehet SialTs = 2t 57 svkat & fsar 30 cm 2

a) 10cm | b) 15cm | c) 20cm | d) 30cm
33. A diverging mirror is
T TG g0 2
a) A plane mirror b) A convex mirror c) A concave mirror d) A shaving mirror
T HHAe qOT T I 0T TS T U U RifehT gdor

34. What will be the momentum of stone having mass of 10kg, when it is thrown with a velocity of 4m/s?
e geor SRt serm 10Kg 2 3'ent 4m/S & 3 o §Ter et T, HelT T Y|

a) 20kg m/s | b) 40 kg m/s | c) 60kg m/s | d) 40 kg/ms




35. The product of force is

I T S 8-
a) Mass and velocity b) Mass and ¢) weight and velocity d) weight and
T S 3T acceleration TR T T acceleration
T I T A SR T

36. Which of the following gas is produced through pouring (passing) the water on calcium carbide?
HfcRrm Fatse W O e (o ) W frefafaa & & #i € i w5 s g 2?

a) Methane
CIRE}

b) Ethane
kil

c) Ethylene
el

d) Acetylene
ufafectiT

37. The production of alcohol from organic compounds by micro organisms is known as

Haw Sal: SR Ao AR Teehied IcTed 1 MR T8 T & ST STt 87

a) Combustion
5T

b) Fermentation
ferua

¢) Anaerobic
Respiration
ST FGT

d) Aerobic Respiration
ElRcipgirc)

38. Bio — diesel mostly produced by —
T — it fermrar Seanfe fopam S 272

a) Myrtaceae
Tt

b) Malvaceae
et

c) Liliaceous
foferaet

d) Euphorbiaceous

[N

39. Which of the following is also known by the name of liquid gold

ffafad 4 & &9 a1 ®e @ 6 T & AT SO 8

a) Petroleum

Yeiferm

b) Platinum
At

c) Aquaregia
FEALST

d) Pyrine
IR

40. The device through which the depth of the sea is measured by the use of sound wave

58 3werr o mreT & Tz i TENE el T % ST & AT S &

a) Rader b) Sonar c) Altimeter d) Venturimeter
41. The total number of vertebrae in a human being is
AT — YR et T hreiehl T et 87
a) 26 | b) 30 | c) 29 d) 33
42. The hardest part of the body is
IR T Fod h3RaH T 2-
a) Bones b) Tooth Enamel c) Skull d) Spinal Cord
43. Of which tissue nails, hoofs and horns are made of?
ey & & o e & Ara i @it @ i e fmior Sar 32
a) Cuticle b) Chitin c) Keratin d) Tunicin
CRGESS TSI e CASGESCIEIC]
44. A plant with compound leaves is
fires uftrat F @ Tk 0 2-
a) Papaya b) Coconut c) Peepal d) Hibiscus
aefr e diae




45. Which of the following is a Parthenocarpic?
3§ I AT A B @

a) Banana b) Apple c) Mulberry d) strawberry
Fem o e et

[N

46. The floral part that produces pollen grains is
T ST ST AT ST FQT ST 2

a) Sepal b) petal c) Anther d) Ovary

47, Root hairs arise from

et U el o feperd 27
a) Cortex b) Pericycle ¢) Epidermis d) Endoldermis
o EIGIEE ufiefia werefig
48. Which fruit has its seed outside?
{3 et 1 sfisT SHe ST BT 87
a) Strawberry b) Banana ¢) Groundnut d) cashew nut
TIeRY el et 1

) [N

49. Organisms that use light to prepare food are known as ----
WeRTST ST IS FmToT & SRIRT SR aTet Toft SRt foR AT & ST ST 22

a) Autotrophs b) Heterotrophy ¢) Omnivores d) Decomposers
LEI TR
50. Chemical formula of soda ash
BISRUCEIRGIRIEE R ]
a) Na,Cos | b) NaH co, | ¢) Na,C05.10H,0 | d) NaHCO0,.10H,0

51. A pipe of diameter‘d’ can drain a certain water tank in 40 minutes. The time taken by a pipe of diameter ‘2d’ for
doing the same job in:
e O =THaET qrEy i S B @it § 40 e @ €, @ 2d SIEeTer 915 B $ ol @ieflen # forat wme e ?

A. 5 minutes B. 10 minutes C. 20 minutes D. 80 minutes

52. The difference of two numbers is 20 % of the larger number. If the smaller number is 20, the larger number is: &
Gl =t R 7t TRt 20 % 21 afe 3 T 20 2, diedt e i w2

A. 25 | B. 45 | C. 50 | D. 80

53. What angle is made by minute hand in 29 sec?
forreeft g2 g1 29 HehUSH ST TRT 10T AT EM?

A. 1740° | B. 2.9° | C. 29° D. 260°




54. A 160-meter-long train running at a speed of 90 km/h crosses a platform is 18 s. What is the length of the platform
in metre?

90ferdY / srereht Tifer & =rer arett 160 Hiet sl 37 Tk wiew i i 18 Wehe § U el 81 A1 WICHH ohi oirelTs HigT § T g ?

A. 210 | B. 240 | C. 290 | D. 310

55. What is the average of the following humbers?
frafafaa denstt # siwg =1 e ?
38, 92, 45, 25, 60

A. 48 | B. 54 | C. 56 | D. None of these

56. What will be the difference between the compound interest and simple interest at the rate of 5% per annum on an
amount of Rs 4000 at the end of 2 year?
2 a1t % 3iq & 4000 w93 it aftt w 5% wfa af fit X & =ehafGsaTsT TR AT AT o ofi SR T m?

A. Rs.10 | B. Rs.20 | C. Rs.25 | D. None of these

57. If 4x+5y=83 andz—; = % then what is the value of y-x?
af 4x + 5y = 83 ﬁtz—; =2 #dry- X @ w7

A. 3 | B. 4 | C. 7 | D. 11

58. Cost of 24 bats and 32 sticks is Rs 5600. What is the price of 3 bats and 4 sticks?
24 s ik 32 sfeat S Fima 5600 T 313 =wwmeE 3R 4 st $r Hmd = 27?2

A. Rs 1400 | B. Rs 2800 | C. Rs700 | D. None of these

59. The ratio between the present ages of P and Q is 3:4 respectively. 4 years hence Q will be 5 year older than P.
What is P’s present age?
P sfit Q i arcam 17y =1 s1qwa 3:4 © 4wt ae P, Q& 5wt gt | P adam 1y e 272

A. 15 year B. 20 year C. 25year D. None of the above
2y g o Ry T ST 4 B T

60. The difference between the average of three consecutive even numbers and the average of the next two
consecutive even numbers is 5. What is first even number?
T AR T Gl 3R ST T & I | ST 3 SN 1 AT 5 ¥l qgedt dear w4y gi?

A. 10 B. 12 C. 14 D. Cannot be determined
Frertfea =2t foma i gepar

61. The difference between simple and compound interests compounded annually on a certain sum of money for 2
years at 9 % per anmum is Rs . 405 The sum is
we e iRt o 2 e fg 9 % anfierax & atfies &9 & €A & el HTERU ST ST Tohdfg o § 3iat 405 &= | TRT feret 8 ?

A. 50000 | B. 100000 | C. 200000 | D. 150000

62. A number consists of two digits and the digit in the ten's place exceeds that in the unit's place by 5. If 5 times the
sum of the digits be subtracted from the number, the digits of the number are reversed. Then the sum of the digits
of the number is:
21 37T T T AT F TETE TAM T 37 1S €AW o 37 5 a1frer 2 | A sient & AT o1 Ol T 390 e & & Her S @, @ 39 WA & Siht
T 9GS ST § T GEAT o 37T T ANT J1d hil

A 11 | B. 7 | C. 9 | D. 13

63. In AABC, AD is the internal bisector of A, meeting the side BC at D. If BD =5 cm, BC = 7.5 cm, then AB : AC
is

et AABC #, AD 1o LA 1 siaftes fgwrsies @ qem st BC #ifsg D wiftreran 2 | afe BD = 5cm, BC =7.5cm e, @1 AB : AC
2l

A 2:1 | B. 1.2 | C. 45 | D. 35




64. The length of the intercept of the graph of the equation 9x — 12y = 108 between the two axes is
TeffeRor 9X — 12y = 108 3 Ik g1 a1 27eft o ofter o 37 : @uedht v Rt gt ?

A. 15 units | B. 9 units | C. 12 units | D. 18 units

65. A sum of Rs.340. 68 is distributed among L, M and N such that L gets Rs. 5.72 more than N and M gets Rs.2.24
more than L, N gets
e ot RS 340.68 =6t L, M et N & forer 38 yob faradia frar srar @ fos L &t N @ 5.72 & 1ftres frei@ @ st M s L @ 2.24 & atfers

firerar & , ot N =t firem aeft Treft

A. Rs.109 | B. Rs.110.90 | C. Rs.113.56 | D. Rs.14.72

66. The greatest number less than 1500, which is divisible by both 16 and 18, is:
1500 @ =u == 31freran g w1 § ;s 16 qur 18 9 & e 2 2

A. 1440 | B. 1404 | C. 1386 | D. 1368

67. A shopkeeper earns a profit equal to the cost price of 15 meter by selling 45 meter cloth. Find the profit percent?
U g 4 45 et et s S S8 15 Hiet Hug % o 7o o Ser 1 UTH §31| SHehl ewIiaeTd d hi?

A. 33% B. 30% c. 331 D. 55%

68. If 3 times a number exceeds its 3/5 by 60, then the number is.
Ffe forult weam =1 forrn, sa e & 3/5 @ 60 ek 2, df 98w 2

A. 25 | B. 35 | C. 45 | D. 60

69. The ratio between the three angles of a quadrilateral is 1:6:2 respectively. The value of the fourth angle of the
quadrilateral is 45°.What is the difference between the value of the largest and smallest angles of the quadrilateral?
T TGS o A 0N o sl 1 Agard sween: 1l 6:2 [ =SS 3 = wior oh A 45° 31 S F qed oS SR g DI HI0 F A A 27

A. 165° | B. 140° | C. 175° | D. 150°

70. What is the approximate value will come in place of the question mark (?) in the following questions? % X
43 113
— X — =7
510~ 93

NN = 340 43 113
ﬁ?sr.Hl—dlmltqq‘;r%ﬁﬁwadqoﬁr_a'(?)%WWN@HT&HWW@W?EXEXE=

?

A. 150 | B. 120 | C. 210 | D. 240

71. 3.2% of 500 x 2. 4% of ? =312

A. 8125 | B. 829.75 | C. 749.85 | D. 799.5

72. The perimeter of a square and a circular field are same. If the area of circular field is 3850 sq meter. What is the
area in meter of the square?
Topell 3T oI o o1 AT T 21 Afe o o e st 3850 o Hiet B, ae o aphet Fi 7

A. 4225 | B. 3025 | C. 2500 | D. 2025

73. A can cultivate gth of aland in 6 days and B can cultivate§ of the same land in 10 days. Working together A and B
can cultivate ofg the land in;
A s i 71 = T 6 Fod i e B i e v 10 feft 5 e s 1 A it B v aer i e = e i o e o o S

A. 4days B. 5days C. 8days D. 10 days
4 fe= 5 fa 8 fe 10 f&=

74. The length of two chords AB and AC of a circle are 8 cm and 6 cm and £BAC = 90°, then the radius of circle is
a1 sftar AB @er AC &t avars 8 &t qer 6 &t 8 LBAC = 90°, der a& g <t frsam g #i?




A. 25cm | B. 20cm | C. 4cm | D. 5¢cm

75. The HCF and LCM of two numbers are 12 and 336 respectively. If one of the number is 84, the other is
a1 g Al % 7.9, g9, e 12 qor 336 2,3f v den 84 2, dt gud e I w2

A. 36 | B. 48 | C. 72 | D. 96

76. A number divided by 13 leaves a remainder 1 and if the quotient, thus obtained, is divided by 5, we get a
remainder of 3. What will be the remainder if the number is divided by 65?
wsh e 13 @ forrfor s o st 1 ST & o7 9T et i 5 @ faenfiie s W 9w wet 3 31 © Afe 3wt wemn i 65 @ fornfsra fam St A 9w
He T B

A. 28 | B. 16 | C. 18 | D. 40

77. The product of two positive numbers is 11520 and their quotient isg.Find the difference of two numbers?

21 ST EEAT AT H I B 11520wmwmw.§%aﬁwaﬁ:ﬁﬁwaﬁ%aﬁaw¥maﬁ%ﬁ|

A. 60 | B. 64 | C. 74 | D. 70

78. Find measure of central angle of the arc whose length is 22 cm and radius of the circle is 28 cm?
T 9 GUS & HE 0T T et et derg 22 T, 2 o g i Brsam 28 &, 27

A. 60° | B. 45° | C. 75° | D. 90°

79. If 172%%s divided by 18, the remainder is:
Ffy 17200 % 18 & frnfra foram S/ a Sowet B

A 17 | B. 16 | C. 1 | D. 2
80. If the length of the three sides of a triangle are 6 cm, 8 cm, and 10 cm, then the length of the median to its greatest
side is
forlt Pyt ot i veird 6 @t 8 T, o 10 Tt 8 Sweht wardt <t ST 9 wifeRrent oY Al 1 B2
A. 8cm | B. 6cm | C. 5cm | D. 48cm
81. Her thinking leans democracy.
a. with b. towards c. for d. None of these
82. He got too tired over work.
a. because of b. because off c. on d. for
83. his principles, he has to be very careful.
a. with regard of b. with regard on c. with regard to d. None of these
84. He crossed the broken bridge warning.
a. inspite of b. in spite off c. on d. about
85. The train as fast as the bus.
a. went b. running C. moves d. going
86. He was seen to the school.
a. went b. going C. gone d. go

87. She in the sun for 1 hour.




a. sitting b. has been sitting c. has been sit d. hassit
88. it help you in your studies?
a. will b. was c. is d. are
89. 1 never seen such a picture before.
a. did b. was c. have d. has

90. Words of same sound is?

a. Soundnyms b. Antonyms ¢. Homonyms d. None of these

91, WIS TR W FeTYH o T 1 T3 g’

(A) stz | (B) v | (C) oo™ | (D) vy e

92. wwet forer T oAt Susiet 872

(A) T | (B) wfemrtt i | (C) wf it | (D) foerét

93. fe1 & & 1 €t v qanRy oy 7 forelt smeft 27

(A) fei | (B) fem | (C) e | DEE

94, =feroft wa # fe=at sram @t oA qeaTery el W ferd @ 2

(A) ¥ | (B) 3= | (C) i | (D) e

95. #e= % |y foeeg @ & ?

(A) e | (B) mer +3% | (C) m+ 7= | (D) zit & ws

96. T —iEH fohee oI & Bid 87

(A)3 | (B) 8 | (C)2 | (D)5

97. et o1 IARU-EI 27

(A) e | (B) = | (C) i | (D) #s

98. &t # =ismavt it He foret & 2

(A) 22 | (B) 10 | (C) 33 | (D) 30

99. T & I T o &8 e 27

(A)Fre—wme | (B) 7 — = | (C) 7 =0 | (D) Fremr _ for

100. qu, qu, que e ST fohe == | 27

(A) T | (B) wrger= \ (C) fox a= \ (D) =i & s




Answer Keys
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